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1. How many significant figures are there in each of the following measurements?
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2. Round each of the following to the indicated number of significant figures, note for some you

may need to use scientific notation.

Name:

Measurement Rounded to 1sig fig | Rounded to 2 sig figs | Rounded to 3 sig figs
a. 57290cm
60000cm | S700dem | S 73008
b. 49935m SOOOOM "f?i;j qu qoam
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d. 0.09725m
|01 m 0,097m | 0.0973~
e. 1.5524kg
: S5k
f. 19.95m '
2.0xl100m | 20.0m
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3. Write the range of possible values for each of the following using the convention that a
measurement is plus or minus the last significant figure. The first is done as an example:

a. 260m
A 260m plus or minus 10m
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4. Add or subtract with attention to sig figs.
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6. Complete each calculation with attention to sig figs
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7. As student measures the dimensions of a box as shown TOP
25.6 cm
a. Determine the volume of the box. , <
: ®
V= Q X \W X h ,/ v FRONT
S— G _ 32cm
= 53 Adcm X325ﬂ)<2 &®

58.24 cm

=47 710.208cm = Lrggaocn

b. Determine the perimeter of the side.
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C: Determlne the area ofthe front of the box.
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d. Determine the area of the top of the box.

58.2%4 %320 = [ 963,69~
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e. How many times greater is the area of the top compared to the area of the side?
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8. The formula for the volume of a sphereisV = gnr3. Determine the volume of a sphere with
radius of 4.56 cm.

3
V= %rxﬁ‘ X C‘-\*S&)
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9. The formula for the surface area of a cube is SA = 6s2. Where s is the side length. What is the
surface area of a cube with side lengths of 0.0030 mm?

SA=6x(0.0030)
= 0.0000 5S4 man

Stace it is  very sm.dl use W

S C:en'} e #e fo lien

@X’O‘ SMD

10. There are 3 beakers which each contain, 35.6 mL, 37.3 mL and 35.2 mL of a solution
respectively. What is the average volume of solution in each beaker?
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